200

59

68

70




1 1 2 3 4

10
1+2+3++5+6+7+8+9+10=55
(2)
2S=101+101+ +101
1 100

2S=101x 100

~101x100
2
= 5050

S

S= 1 +2 43 4 . . «+98+99+100
) S=100 +99 498 4+ - - -+ 34 2+ 1

2 S| 101 101 ... 101

2 S 101 x | 100

S 5050

3) Q) n 1+2+ 3+ +n

&)
S=1+ 2+ 3+
+(n=1)+n

S=n+(n-H+(n-2)+ + 2
+1

2S=(n+)+(n+D+(n+1)+
+(n+1)
n+l n
2S=(n+1)xn
2
n(n+1)
T2

S



A BC AH
BH = 4cm ABH

AH =~/ABZ—BHZ = |/(4y5) - 4? =8

ABCD S
S=(8+16)x 8= 2 =96cm?
p=40q=12

2 y=Xx2X+2=X"
4 x 12
4 16cm?

1 8cm?

y=16+8(x—4)=8x-16
12 x 16
12 80cm?

y =80+ {8+ (8- 2(x-12))}x(x-12)+ 2
=—x*+32x-160
Xy

10 |11 |12 |13 |14 |15 |16

< | X || X

56 |64 |72 |80 |87 |92 |95 |96

95

90

85

80

75

70

65

60

55

50

45

40

35

30

25

20

15

10

10

15




(1) A,B,C,D

OB OD C
X A BD
X 2X
Y 2y
X Y=360°
2x + 2y = 360°
2 X+ y =180
B ) ABC  EDA
ABCD
A S 1) ABC  CDA=180°
CDA EDA 180°
ABC= EDA
F AB
ADB= ACB
AE//BD EAD= ADB
B c ACB= EAD
v 2
ABC  EDA
A3) ADF  BCF AFD  CFB
2 AFD  BFC AF BF AD
AF = 2BF
5
AFB  DFC AF DF
AF - 8prF
7
2 8 20

ZBF=—-DF BF=2"DF
5 7 7

BD = BF + DF :?DHDF =2—77DF

BF _Dpp.Zpp-2
BD 7 7 27

BD

BC



27 )
(29 )
27 )
Before visiting foreign countries, | want to study body languages used there because |

think they are very important to communicate and understand each other. (25words)

trees oil

how many trees are being cut down and how much plastic is used
It is also good to bring a bag with you and use it when you go shopping. [when you buy

something.] (17words)

(76 )

(87 )
(19 )
riding

(70 )

Go straight and turn left at the first corner. You pass the police station on your right. And
then turn right at the next street. You will see the bookstore on your left. Go straight, and
you will see the bank on your left and the hotel on your right. After a while you will find the
post office on your left. (62 )
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